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ﬁlllustration 7. . : \ 9

The following information is collected from the annual reports of J Ltd. -

Profit before tax . % 2-50 crore
Tax rate : 40 per cent
Retention ratio ‘ , 40 per cent
Numbers of outstanding shares 50,00,000
Equity capitalisation rate - N 12 per cent
Rate of return on investment - 15 per cent

What should be the market price per share accordmg to Gordon’s Model of divideng D

[CA. Inter May, z(jb
@ Solutlon

According to GQrdon’s Model, the Market Price (P) of a share, is given by,

p= E(1-D)
K,-br
Where,

E = Earnings per share, (i.e., 60% of ¥ 2-50 crore/50,00,000 shares) T 3
b = Retention ratio i.e., 40% or 0-40 ‘

K, = Cost of Capital or Equity Capitalisation rate i.e., 12% or 0-12

r = Rate of return on investment i.e., 15% or 0-15
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, the following mformahon relat;
fel : Ng to ;
G ,,Joﬂ ‘g Moc s a COmPany it
Total investment in assots ' mine the marko Price of a g1
2 e of a5
No. of shares are using

Total earnings

! 50,000
Cost of capital 12,00,000
Pay-out ratio 16%
. 40%,
..;\~ord’”? to Gordon’s Model, the Market Price of
E(1-b) ? share, P is given by,

where, P = Market Price of a share
E = Earnings per share

Total earnings

No. of shares

T2,00,000

50,000
=%4
(1 -b) = Pay-out ratio = 0-40
K. = Cost of capital = 0-16
b = Retention ratio = 1 -0-40 = 0-60

r = Rate of return on investments

and
__Tolal earnings x 100
Total Investments
T2,00,000 % 100
210,00,000

= 20 /0 = 020
Putting the values in the model, we get,

— / -— rd ¥
P= §76-(0-60%x0-20)
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A company’s total investment in asset is T 1,00,00,000. Tt hasz 1,00.000 share

rate of return on investment is 30% and the cost of capital is 18%. The company | Do
— EO ook 3 . . . . 5 CUPANY Rag 4 o0
retaining 25% of its profits. Determine the value of the firm using Gordon's Mt lla

Vo i
odel

[C.U. A1 o
[Almost sintilar to CiI ‘*fb. i,

9,

@ Solution )

As per Gordon’s Model, the Market Price of a share,
= E(1-})
K,-br
where, P = Market price of a share.
E = Earnings per share.
Return on Investment

Number of Shares

30% of T1,00,00,
1,00,80000 = =2
b = Retention ratio or percentage of earnings retained.
= 25% or 0-25
K. = Capitalisation rate = 18% or 018
r = Rate of return on investment.
= 30% = 0-30
Putting the values in the model, we get,
P T30(1-0-25)
~ 0-18-(0-25x%0-30)
=Y 214-28571.
Market price of a share, P = ¥ 214-28571.

and

Now, Value of the firm,
V=nxP,

where, 17 = Number of shares,

P = Market price of a share,

V =1,00,000 x ¥ 214.28571

=3 2,14,28,571.
ﬁ”lu?l?ation 10.7

The following information is available in respect of the rate of returm on investment (r). the capatalisa

and

rate (K,) and earnings per share (L) of ABC Ltd.

r =12 per cent, I = T 20,
Determine the value of its shares, assuming the following :
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‘ —ding to Gordor

o

1's Model, the'valye of a sha
re

p= E(1-b)
K,-br

, P

/ 1s given by,

where, P =Value of a share,
E = Eamnings per share,
b = Retention ratio,
(1-b) = D/P ratio,
K, = Capitalisation rate,

r = Rate of retumn on investment.

The value of shares of ABC Ltd. for different D/P ratios and
retention ratios are shown in the following table.

%f D/P Retention K,
 Situation Ratio Ratio % Value of Share
| (1-b) (b) 7
_ 220x010 .
(a) 10 90 20 P= sa-pon0in - < A7
220x020 ..
(b) 20 80 19 P= T19-080x01D)
220%0-30
| _ =T 6250
© 30 70 I8 £.7 018-070x012)
oo oe 320%040  _37g1.63-
; d) 40 60 17 0.17..(0.§0x0-12)
Fes = 000 _ 410000
' E 16 P= 376-(050x012)
(e) 50 U I
A —1 | _ R0X060 799765
4y 60 40 5 P=015-040x012)
—_— L p 0T -k
14 7 014-(0:30x012)
®) 70 0 " L
s R B

Scanned with CamScanner



